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Time : Three hours Maximum : 75 marks

10.

11.

PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

~ What do you understand by stock and debtors system?

sF&EmUY wHmid sLemmellsarapenp upl Felit SifeuQgsenan?
What is Invoice price method?

@iy e apenm erenpmed ereran?

Give the concept of Interbranch Transactions.
SeansEns Qo wlorer Baspsfsdr Lpb amms.

What is meant by Departmental Accounts?

Slawpeurf sewrs@saT eremed eTettan?

Give the basis of Apportionment of (a) Lighting (b) Power.

(=) farég cusd) (=) Wem #68 9w Qseasaiarn LATBsef
Dl LILIGDL ST (156,

What is Instalment purchase system?

. BOUmERTS; QSTETAPSH PEnD GTammTed Gratman?

What do you mean by Re-Possession of Assets?

Qsmggissamer HmidbL @S5S Qamarearsed LHH Falli 3N CeuQgenan?
What is sacrificing ratio? A

‘é,]u_lrra;‘aﬁgu.b GTGIDITE) GTEHTET?

Who is an outgoing partner?

. Qeuafls Qaedgyid gnl L mef) eraimicuit wimi?

" State the modes of dissolution of a partnership firm.

&L Fipieuans SameriL] (peDsmaT eT(pss.

What do you mean insolvency of a partner?

unsevgt @haufler Qpmgin upd Belli <iNGeuGgene?
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13.

14.

15.

A and B share profits in the ratio of 3:2. 2 joins the firm with
1/4th share. Find out sacrificing ratio.

A vpmib B opflw unsevsiser @aomugeas wapGu 3:2 eram aisgdle
9RNSgE Qarawmari. 2 eremieui 1/4 ukiglear Ly st reflwirs

Gsiipgit. Seuiisafler Hurs eizsmss sam@iily.
' PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

What is partnership deed? Describe its contents.

&l aells @uubsl usSinb e cea? sigar o drafGsamar

© efleuf.

Briefly explain the methods of valuation of goodwill.

BHALWIT SaraEdHId PpDEMET S([HEHEHLTS eflauf.

‘A company has a branch at Delhi. From the following

particulars, calculate the profit earned by that branch:

- Rs.
Stock on 1.1.94 (invoice price) 20,000
Goods sent to Branch during 1994 at invoice price 1,10,000
Expenses at Branch during 1994 : 6,000
‘Sales during 1994 1,20,000

Goods are invoiced to the Branch at cost plus 25% the sales price
is cost plus 50%. Also ascertain the stock reserve that should be

. maintained in respect of unrealized profit on stock:

2® Hnauasfne QLdadluin damer 2 darg). SDSTEID sEuOSMETE

Qaran® oibs Hevarudlen g QerLisms sarssl(Hs.

.
1.1.94 e sysHmUy (@miL edlene) 20,000
19946 Benarmd@ SigILILLILLL 8756 (@i efleveoud®) 1,10,000
1994-r Henamillen Qeavaysar 6,000
1994-ér eflpLicnen ~ . 1,20,000

ETHEMS SILEEGGIL 25% sat 1y eflened Birarrudsg Sie ndllug whHmd
dpuamar elemamu oL ssellaoyLedar 50% iy Biamuilsng.
Cuaid s16E QELY @&&80 wLHND 2 danddu @eTud sr&EE
g EeuHEDU|LD STETs.
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51-12-1996 é’“‘“@' @@Jff&?ﬁ_ 'éﬁ‘&qﬂ_‘j” Ppediasms 56"“‘_’55@’_&- .('f)- 16. A company has two departments A and B Dept. A supplies goods
500 aﬁ '-Dé]u'—_(ﬂ‘—:“‘_—‘é' ; PSS @Q 790 : _LD?]“'%]'—“'T"—% ) _ to Dept. B at its usual selling price. From the following figures

sLameflwub A a@gOsreter @ls Gararimi. Heob. wHmib e -

slyLb @ 2700-5@ gosde epsiutig. fipauasden ghsmar prepare Departments trading a/c for the year 1982.

epLayLd. : A B
. . Rs. Rs.

Opening sto"ck.(1.1.82) 30,000 -

Purchases ' 2,10,000 -

Transfer to B 50,000 50,000

Sales | 2,00,000 60,000

Closing stock (31.12.82) 40,000 10,000

8@ Bpeuard A wppb B 9flu Grer® giepsmers AupBobss.
gop A SEhs HopseE QuiGLsd elpumer  eflaauid
anprisILL Lent Spstapid  cleumsmes Qeren@® 1982 b

<arig & grewpaurl edwiruimys samsens wmhés. .

A B

e -
1.1.82 syenm sy&HmLY 30,000 -
Qsmargpsd 210,000 d
Bég omppd 50,000 50,000
amg,i_mm _ 2,00,000 60,000

31.12.82 wyany spéAmoy 40,000 10,000

17. Mr. A purchased a machine by hire purchase system for
3 Rs 30,000 to be paid as follows:
Rs.
Down payment 5,000
At the end of the first year 7,000
At the end of the second year 6,500
At the end of the third year 6,000
At the ed of the fourth year 5,500

Interest is changed on.the cash value at 10% .p.a. At what value
should the machine be capitalised.
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19.

. A eremueuit @uibdlyid getenm ep. 30,000-&, eur_ang Qamerapse
pepuile euniiflearmt. oibs Ggransamw ereummm Ceaisg .

(.
2 ey &ens a&awwssTen Curg 5,000
P& %) QoiFuiad 7,000
QyairLmb e H @i 6,500
apeTmmid <er(h @miSHuded 6,000
BrengmD pem® QmiSlude 5,600

ailly yarghE 10% oigb Grrés wHudd samsdtiLGEHns.
QuipHysHar Qurés UL eremen?

On 1t January 1998 the capitals of Paramu and Sivam were
Rs. 30,000 and Rs. 50,000. Paramu introduced on dJuly 1,
Rs. 10,000 and November 1, Rs. 5,000. Sivam Rs. 5,000 on
August 1 and Rs. 20,000 on April 1, as additional and drawings.
Paramu withdraws Rs. 200 in the beginning of every month and
Sivam Rs. 200 at the end of every month during the year.
Calculate the interest payable and chargeable.

111998 ey wyap wombd feud HHACwrT s PepCu
5. 30,000 wpmid en. 50,000 @w. LI &WbBFD W ors @. 10,000
-8 gY%0 1 oembd @ 5000-g peubui 1 iemLD
&gﬁ]@pa;uu@gﬁmrrrr. Sleuwd (. 5,000 g5 yaev 1 sjemmibd ep. 20,000 &
gured 1 Siemid &m@se Wwsors Blepsli@sdant. psao LD,
a@uy &g 5% el samsflu@GEpg. urey @aibeurdm I
QzmLsasHain 5. 200 er@luns r(HSHrT. feud BjeuTsar geubeum(m
g @miFullgd ep. 200 er@LLNS eTBSSTT. Ceqss Ceuaig i LLHYID

Qup Ceuanriquws culigenwis sensS (Hs.

Raman and Laxman were partners sharing profits and losses in

- the ratio of 4:3..In view of Votan’s admission, they decided to

revalue the assets and liabilities as indicated below.
(@) To increase the value of building by Rs. 60,000
(b) Provision for doubtful debts to be decreased by Rs. 800

(¢) To decrease machinery by Rs. 16,000. Furniture by
Rs. 4,000 and stock by Rs. 12,000.

(d) A provision for outstanding liabilities to be created at
Rs. 800. Show the revaluation account.
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142011 wem T Qopgef@dprr. Speumd  @UUBSD

aswreruhEmg. :

(=1) EpQuwi @. 60,000 s wHLGLLuGAHpg. -Coand T e
samsHled aurey meusSLILEGEDS.
<) QuBdTd - 5. 1,17,0008@10D, Dempsever - @. 46,0008 &UaS@

. 5. 15,000-6@1b Log)j wSHUIH Qe e

(@) m. 21,000-gm T Gen Qewou@sgueufi b 1.4.20116
Qegussuu L g GHUCULE udey 68 WHLHISEH samrées,
PSS HWTEHE, LODHHILD q@u_l Bpeuargfear Qmuy Hlaeds
@Mueu swrfés.

A, B and C are in partnership sharing profits and losses in the

~proportion of 4:3:2. Their Balance sheet on Dec 31, 1996 stood as

follows.
Liabilities  Rs. Rs. Assets Rs.
Capital a/c: \ Land and Buildings 5,500
A 4,000 Stock in Trade 2,000
B 2,000 ‘ Debtors 1,000
C 500 6,500 Cashin hands 1,500
Creditors 3,500 -

10,000 10,000

They agree to dissolve partnership as from 31 Dec 1996. A
agrees to take over the stock at a valuation of Rs. 1,500 and the
debtors at a valuation of Rs. 700 (no cash passes). The Land and
Buildings are sold at auction for Rs. 2,700. Close the books of the
firm.

A, B ovpgd C <di @a.l@Lb wanCu 4:3:2 et eigsdHed Qe
BLLmsmery  ukdl@®  Oemadlempernt.  31.12.1996  yemm”
SlaigEneLw QLiLblaes @l Geraumomm. :

Qurgiiyser ¢, (. Qangg daen €.
s &/ G: ) Blod why s gL 1d 5,500
A " 4,000 - ewiruny spsfmuy 2,000
B 2,000 &l_szsrrr'crﬂase'rr 1,000
C ‘ 500 6,500 esulimLy Qrrssd 1,500
GISI_GNITGITI:I'&GiT 3,600

10,000 ; : 10,000
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23. K, M and T are partners sharing profits and losses equally.
Their Balance sheet as on 31.3.2011 is
Liabilities Rs. Rs. Assets’ Rs. Rs.
Creditors 47,000 Cash 36,000
General Reserve 30,000 Debtors 84,000
Capital a/c: . Less: DBDD 6,000 78,000
K 82,000 Stock 19,000
M 82,000 Fixture . 42,000
T 90,000 2,54,000 Furniture ° 56,000
Machinery 1,00,000
3,31,000 3,31,000
T died on 1st April 2011 and the fo]lowmg agreement was to be
put into effect:
(a) Goodwill was valued at Rs. 60,000.and T was to be credited
with his share.
(b) Assets were revalued: Machinery to Rs. 1,17,000; Furniture
to Rs. 46,000; Stock to Rs. 15,000 , :
(¢ Rs. 21,000 was to be paid away to the T's executors on 1st
April 2011. Pass Journal entries and prepare revaluation
a/c, capital a/c and Balance sheet of new firm.
K, M wpgid T fHCGuri Qoru pligms sflgoorsi uiflHo
unsevgisenmeur. 31.3.2011 siemmererLilg. Limer Bmeuensdlen @ mLiL
Bleved @Ml YemeuHLmy.
Qumgliysdr . © | Qenggiéser . €.
sL_anmeflser 47,000 Qpm&sid 36,000
QumrgdsmiiL 30,000 sLemefsar : 84,000
w5 5/G: EAN2 pué sl 78,000
PEEG 6,000
K /82,000 CsEG - 19,000
M 82,000 QunmsginsseT - 42,000
T 90,000 2,54,000 Si@pseer 56,000
QupSybd 1,00,000
3,31,000 3,31,000
8 60522/BYA2C/CYA2A

20.

@rmoaib ol soayb 4:3 e eigsHlw @emu - BLLSeng L& (Hé
QEMET@HD LINEELSTEHETTOUIT. @eurger Goucvene Gl (h
auaflasHer - ursevgirs  Gaiés  WPrey Qaiig  sEsefen
Q&rr‘{r,gjé;aémmum Qumpiiyseenyb 1 9emeu(HLOM) wowHaEE
Qewsgent '

(<) sligLgden wHliemu en. 60,000 2fsflss Cauam(hid
(<) mwssL6n @EI6E . 800 GeampssiiuL G

(@) @ubdmd - . 16,000, siepsee . 4,000 WHDHILD &Uéaac;]@uq
. 12,000 < Awienes LI @Gmg)a;a;uul_ Ceuasr(Hid.

() Qarur Ceuamqw Qumpiysdr @866 . 800 a@eurrasa;u
i Ceuair(HiLd. mgmﬁuﬁ@ SETEME Srewrdl.
PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Meenakshi Mills Ltd has a branch at Kancheepuram. 'Goods are
invoiced to the branch at cost plus 50%. Branch remits all cash

_received to the Head. office and all expenses are met by the Head

office. From the following particulars, prepare the necessary
ledger accounts on the stock and Debtors system.

Rs.
Stock on 1%t January 1995 (Invoice price) 15,600
Debtors on 1t January 1995 8,700
Goods invoiced to branch (cost) 36,000
Sales at Branch:
Cash sales : 35,000
Credit sales 30,100
Cash collected from Debtors 29,800
Goods returned by debtors .1,500
Surplus in stock 300
Discount allowed to customers 350
Expenses at'branch 6,700

Bemr 8 Bidev MOQALL g STEHALTD HaarsE Cunmismer

SiLssalmaCur® 50% Caissliul () Samars@ H@aug). Smeaein
Si@iaushd Hamauddmps Grréssms QupHD LHMID Hear GFwiuyb
ooasg OQswesmaryd  ghpg.  Speumd  elaurhsaldmbs
Gsmauwits GUGTL( saus@smen &7&Sl GBI LHHD s eTeflEeT
panuiler sumfés. '
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21.

{.
1.1.1995 sp&d iy (@i éemeude) 15,600
1.1.1995 ey sLerreflger g 8,700

Aeweré@ Si@tiuul L QurLser (SiLéselloe) 36,000

Slanemulled eSlhLiane:

Qrrésn - i 35,000
sLen : 30,100
sLamaflld Bl pBg Qubp Qrrésid ’ ~ 29,800°
sLamafuli L Bhg Hmbu Qubp sTEE 1,500
sr&f (e o Lif ' ' 300
aLamaflsErse Siefigs senepLig. " 350
Savemudler QFaveyser e 6,700

From the following data prepare Departmental trading and
‘P&L a/c and there after the combined income account revealing
the concerns true results for the year ended 31.12.1989.

Dept. A Dept. B

Rs. Rs.
Stock (January 1) 40,000 - |
Purchase from outside 2,(|)'0?000 20,000
Wages ' ' 10,000 1,000
Transfers of goods from Dept. A — 50,000

Stock (December 31% at cost at the Dept.) 30,000 10,000

Sales to outsiders 2,00,000 71,000

B’s entire stock represents goods from Dept. A. Which transfers
them at 25% above cost. Administrative expenses came to Rs.
15,000 to be allocated to A and B in the ratio of 4:1 respectively.

Spsrgnid eeurismens Asran® gempeurfurer eNwmLmyé SHEEHG,
wHHD Qe i sarsE NG sl () auBLTST SaTéE S HLcuHeD
31.12.1989 gy prCearm(® 1pigeymith 2T HéE SuThés.
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Dept. A Dept. B

Rs. Rs.
7SS MmUY (Reareufl) 40,000 —
Qeuafludeimbe Qsrarupsed 2,00,000 20,000
el 10,000 1,000
gop A Wellmibg) IHDL Csi1ss) - 50,000

sr&&miy (31 yebui M S|L_&8LD) 30,000 10,000
QeueflwmpsE Qsiis elpLaman 2,00,000 71,000

geon B-d sra@ wyeugn gop A Wellmpg 25% oiflswors
SlLssellaaudamps LHpn Qeitiul L gre. Hieurs Qeeweysdr
. 15,000-g 4:1 arémp eSgsde> giaom A whmid gap B -&@ LATHg
Sef&slu L g.

Kumar purchased seven trucks on hire purchase on 1.7.1994.
The cash price of each truck was Rs. 50,000. He was to pay 20%
of the cash price at the time of delivery and the balance in five
half - yearly instalments starting from 31.12.94 with interest at
5% p.a. :

: Kumar failed to pay the instalm’ent due on 30.6.95. It was

agreed that Kumar would return 3 trucks to-the vendor. The
returning price of 3 trucks were Rs. 40,500 each. Kumar charges
depreciation at 20% p.a. Vendor after spending Rs. 1,000 on
repair sold away all the 3 trucks for Rs. 40,000 each. Show the
trucks account in the books of Kumar. Account closing data 30tk
June. :

@wmr 01.07.1994 e 7 euamysmar eunLass Qamer WS
giwpuiler Gsmetapsed Qeiism. geuGeumm ausirauier Qpmés afleneuu|Lb
@ 50,000 wyEb. @i ayphsda Quiws GImés almamudd
20%-gemg)d BFpeTaTens 5 Sieny TR Seumamsafler 31.12.1994
QBT g HE 5% eul’ guy_en Ceirg g Defsss Couarid.

@mi 30.06.1995 ey Haieveiwirs o drar Agrensemw Q&@‘é,g,'{r,
seulefl L. @omt 3 euaimiy sener alipumanuranisersg SHmrud
AQlleug  ghgs@smaeriulLg.  AmLuuu@hen @alQeun
auamguien eflene 5. 40,500 @b, @omt Ay HE 20% eigb
Cowiwrend eAfsdomt. efphLeanumert - 1,000 wrmwsdnQasen
Gewall’ () @eiQan euemqud . 40,000 afisb 3 euamgsameni
eflpprir. @t gHaseafa CUERTIG &6 GemTéhend: SHTerrLSlEsHeLD. EET (S,
gen 30 ey apLLiLGdns. ' ' '
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